


Direction : In Question No. 1-12, three terms o o : wom den 1-12 4§, faey it &
are alike in some way and so form a group ¥ &l &9 4 wF wim ¥ o ww v W@
Wwhile one is different from others. Identify the ¥ ¥afF & v= &3 & 4 fu=r 8, 35 s =1

term that does not belong to group.
. 1) New Delhi 2) Lucknow
3) Hyderabad 4) Jaipur
2. 1)July 2) March
3) December 4) April
3. 1) Second 2) Work
3) Metre 4) Kilogram
4. 1) Sword 2) Axe
3) Gun 4) Knife
5. 1)Milk 2) Syrup
3) Water 4) Cake
6. 1) Hindi 2) Chinese
3) Marathi 4) Gujarati
7. 1) Cricket 2) Chess
3) Carom 4) Ludo
8. 1)Circle 2) Tnangle
3) Square 4) Rectangle
9. )H 2)Q
HT 4) Z
10. 1)27 2)45
3)35 4)9
1. 1)(42, 14) 2) (69, 23)
3) (108, 36) 4) (56, 19)
12. 1) Dog 2) Cow
3) Goat 4) Buffalo

T & fu= 2
1. 1) 7 feewt
3) #ewmEm
2. 1) §em
3) fawar
3. 1) dfFvs
3) wHiex
4. ) ge@r
3) &g
5. 1)34
3)
6. 1) &=
3) wEt
7. 1) fEwe
3) &M
8 1)ga
3) =
9. 1)H
HNT
10. 1)27
3)35
1. 1)(42, 14)
3) (108, 36)
12. 1)yF=
3)

2) TS
4) SAQ
2) wrd

4) 31

2) M

4) feremm
2) FewTel
4) =g

2) fay

4) FF

2) 5t

4) TS
2) e
4) 7=

2) s
4) 3rga
2)Q

47

2)45

4)9

2) (69, 23)
4) (56, 19)
2) M3

4) =

Directions : In Question No. 13-24, complete Tewr Frder : wa wiwem 13-24 4, &t ¢ sjaen =1

the given series.

13. §5,6,9, ...,21,30

1) 26
3) 30

2) 28
4) 14

T

13. 5,69, :.21,30

1) 26
3) 30

2) 28
4) 14



14.

15.

17.

18.

19,

20.

21,

24,

3:9:27, 81, ..,

1)216 2) 220
3) 243 4) 250
71. 55, 46, 42, ...

1) 40 2)41
3)39 4)38
3 Moo k3

)13 2) 21
3)28 4) 30
1.5: 23,305 3.5

1)4.7 2)44
3)4.2 “4)5.1
5.2, 4.4,4.0,3.6

13 2)33
3)35 4)4.8
[3(168)13, 1418113, IS(D13
1) 190 2) 194
3) 195 4) 196
9 11,20, 31, ..., 82

1) 41 2) 71
3) 51 4) 60
F2. ... D8, Cl16, B32, A64
1) A4 2) G4
3)E3 4) E4
292 220 .. 22229
1122 2)2222
3) 2325 4)2223

, .8 L1, O, ...

R 2Y:5
HT 4 U
b ih ol 1

18.3‘6'.;4"‘....- ‘83

| |
D3 D%
| |

23 T

14.

16.

17.

18.

19.

21,

24.

1, 3,9, 27, 81, ...

1)216 2)220
3)243 4)250
71, 55, 46, 42, ...
1) 40 2) 41
3) 39 4) 38
3, 1303
113 2)21
3)28 4)30
1.5,23,3.1,309, ...
1)4.7 2)4.4
3)4.2 4)5.1
52,0 4.4,4.0,3.6
13 2)3.3
3)35 4)48
13(168)13, 14(181)13, 15(7)13
1) 190 2) 194
3) 195 4)196
9, 11,20, 31, ..., 82
1) 41 2) 71
3)51 4)60
F2, ..., D8, C16, B32, A64
1) Ad 2) G4
3) E3 4) F4
2,22,222, ..., 22222
1) 1122 2)2222
3)2325 4)2223
(538 7 Rl T 1
)R 2) S
HT 4H U
P N
18'36'54° 7780

8 .

' 1
-y R
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Directions : In Question No. 25-36, there are fagm fader : woa swm 25-36 4, @ v=x A ™0
three words, out of which first two are related in - # | Tee1 31 vsg fafdft w9 & sy #§ wafem ¥
some way. The same relationship holds between a® Haw dtm aiR faw mu fawedi (1), (2), (3)
the third word and one of the responses (1), (2), 71 (4) ¥ R w% v= ¥ & Haiftm w5 51 T
(3) or (4). Identify the correct related word.

25. Eye:See:: Leg:? 25. i@ ;@ o 2 ?
1) Listen 2) Speak 1) ¥ 2) e
3) Walk 4) Breath 3) W 4) g
26. Thunder : Rain :: ....... : Night 26. oA ;@S |
1) Dust 2) Dark 1) & 2) #iE
3) Evening 4) Dusk 3) ™ 4) 5
27. Smell ;: Flower :: Taste : 2° 2]. Q¥ T R ?
1) Lawn 2) Garden 1) 5 &1 e 2) =i
3) Food 4) Sweet 3) @ e 4) #H=
28. Captain : Soldier :: Leader : ? 28, FWE ;W AT ?
1) Chair 2) Minister 1) 2) w
3) Party 4) Follower 3) i 4) srard
29. Radio: Listener :: Film : ? 29. ifed ; g o we-fad : 2
1) Producer 2) Actor 1 ﬁ"lﬁﬂ 2) Hfvra
3) Viewer 4) Director 3) T 4) Ry
30. Cobbler : Shoe :: Carpenter : ? 30, YRt : S[ET o E@ER : ?
1) Wood 2) Furniture 1) wst 2) TR
3) Iron 4) Gold 3) el 4) T
31. Dearth : Scarcity :: Substitute : ? 31, e ;. wE o faemew o ?
1) Rumor 2) Assume 1) SRETE 2) |
3) Replace 4) Destroy 3) & WF W 4) T
32, 163380277 32, 63:21:27:7
1)9 ' 2)6 1)9 2)6
31 4)3 3) 1 4)3
33. 9% K256 ? 33. S M2ASTG:?
1) 225 2) 216 1) 225 2) 216
3) 400 4) 30 3) 400 4) 30
34. AFHO : CHFM :: GBDJ : ? 34. AFHO : CHFM :: GBDJ : ?
1) GBIM 2) GBLD 1) GBIM 2) GBLD
3) GPLD 4) IDBH 3) GPLD 4) IDBH




35, Lim:mIL:TTs: ? 35. Elm;miL:: TIs: ?

1) sTL 2) Tts 1) sTL 2) Tts
3)sTT 4) stT 3)sTT 4) stT
36. F:216::L:? 36. F:216::L:7
1) 1728 2) 1700 1) 1728 2) 1700
3) 1600 4) 1723

3) 1600 4)1723 4
Direction : In Question No, 37-41, Choose the farom fordor : wwm w3741 H vEE H R TR

one which comes first in the dictionary. 7= AR A vEEN F SFER W A R

37. 1) Clash 2) Clear 37. 1) Clash 2) Clear
3) Clean 4) Clap 3) Clean 4) Clap
38. 1) University 2) Unknown 38. 1) University 2) Unknown
3) Until 4) Unusual 3) Until 4) Unusual
39. 1) Lamp 2) Lamb 39. 1) Lamp 2) Lamb
3) Lake 4) Last 3) Lake 4) Last
40. 1) Sail 2) Sack 40. 1) Sail 2) Sack
3) Said 4) Sad 3) Saud 4) Sad
41, 1) Narrate 2) Narrow 41. 1) Narrate 2) Narrow
3) Nail 4) Nag 3) Nail 4) Nag

Direction : In Question No. 4246, amange the 01 F1a% : ¥ W& 42-46 A, wall 51 30 &

given words in sequence in which they occur in the ¥ fomat fom #m § 3 siUst veww & @

dictionary and then choose the correct it fise sfem #

42. 1) Calender 2) Captain 42. 1) Calender 2) Captain
3) Card 4) Carrot 3) Card 4) Carrot
1)1,3,4,2 2)1,2,3,4 1)1,3,4,2 2)1,2,3,4
3)1,2,4,3 4)4,3,2, 1 3)1,2,4,3 4)4,3,2,1

43. 1) Nitro 2) Nitre 43. 1) Nitro 2) Nitre
3) Niece 4) Ninety 3) Niece 4) Ninety
1)3,4.2,1 2)1,2,3,4 1)3,4,2,1 2)1,2,3,4
3)4,3,2,1 4)2,3,4,1 3)4,3,2,1 4)2,3,4,1

44. 1) Judo 2) July 44. 1) Judo 2) July
3) Jar 4) Jump 3) Jar 4) Jump
1)1,3,4,2 2)4,3,2,1 1)1,3,4,2 2)4,3,2,1
3)3,1,4,2 4)3,1,2,4 3)3,1,4,2 4)3,1,2,4

45. 1) Friday 2) Friary 45. 1) Friday 2) Friary
3) Friend 4) Fright 3) Friend 4) Fright
1)2,1,3,4 2)4,3,1,2 1)2,1,3,4 2)4,3,1,2
3)3,2,1,4 41,2,4,3 3)3,2,1,4 4)1,2,4,3



47.

48.

49,

2.

52.

3.

1) Queen 2) Quick

3) Question 4) Quality

1)4,1,2,3 2)4:1,3, 2

3 L2LIA 4)1,4,2.3
1T i 111 1l

1] + —+ + - is
10 100 1000 10000

1) 3.3221 2)2.432

3) 23321 4)2.245

How many circles are there in the figure
given below ?

1) 6 2)7

3H1o 4)8

Choose the most appropriate option given
below :

A pack of .....ccoeee.
1) Cats 2) Wolves
3) Lions 4) Apples

Choose the correct spelling from the given
words,

1) Maegistrate 2) Magisttrate

3) Magestrate 4) Magistrate
Hardest part of human body .............. .
1) Skull 2) Bone

3) Enamel 4) All of these

A gang of thieves or ......cc..... .

1) Police 2) Slaves

3) Students 4) Owls

If ‘MAN" is coded as 13-1-14 then how
will you code TIME ?
1) 20-9-13-5
3) 19-18-5-6

2) 19-9-18-5
4) 20-8-13-5

47.

49,

51.

52

53.

1) Queen 2) Quick
3) Question 4) Quality
1)4,1,2,3 2)4,1,3,2
Dk 23,4 4)1,4,2.3

(7 S 11 11
14—+ + : IS
10100 1000 10000

1)3.3221 2)2.432
3)2.3321 4)2.245
2 few my fag A et gm ¥ 2

Neé 2)7

3)10 4)8

9 fau o fawedi § el 3t fawew
7

A pack of ..............
1) Cats 2) Wolves
3) Lions 4) Apples

few My W § @ e w5

1) Maegistrate 2) Magisttrate

3) Magestrate 4) Magistrate

) =zt 2) wgst

3) Faaes 4) Tt forre =@ ¥
AT A ... W RB

1) gfers 2) M

3) 81 4) 3T

7f% fFelt s J§ “MAN' &7 13-1-14 fean
e & TIME® #t %3 fomn smom 2
1)20-9-13-5 2) 19-9-18-5

3) 19-18-5-6 4) 20-8-13-5




56.

57.

8.

59.

In a coded language, ‘BRINJAL’ is written
as ‘LAJNIRB’ then how will
‘LADYFINGER ' be written in that code ?
1) RNEGIFYDAL  2) RINEGFYDAL
3) REGNIFYDAL  4) RGENIFYDAL

. If P denotes *+’, Q denotes *x’,

R denotes “+' and S denotes *— then
18Q12P4R586 =7

1) 95 2) 53

3) 51 4) 57

In a certain code ‘ORANGE’ is written as
?=@ - +*and ‘EAT" is written as *@§.
How can ‘ROTATE’ be written in that
code ?

D+?28@*S$ 2)+72%@ -*
3)+28@S * 4)=28*-@
A and B are two brothers. C and D are
sisters. A’s son is D’s brother. How is B
related to C ?

1) Father 2) Brother

3) Grand Father 4) Uncle

The time on the watch is 9:15 and the
hour hand points towards west. The
direction of the minute hand 1s..........

1) North 2) East
3) South 4) West
Which of the following is not a leap year ?
1) 2000 2) 2600
3) 1600 4) 1996

If the day after tomorrow is a Sunday,
what was it day before yesterday ?

1) Wednesday ' 2) Thursday

3) Friday 4) Saturday

6

54.

55.

56.

57.

59.

7fz fedt wrar & ‘BRINJAL' &1
‘LAJNIRB’ feran sg & ‘LADYFINGER®
= F4 fom smom ?

1) RNEGIFYDAL  2) RINEGFYDAL
3) REGNIFYDAL  4) RGENIFYDAL
Ffk P=l 4 |/, Q F ‘X, R &+ 3w
S ® ‘2 R/ sifea fem W A
18Q12P4R5S6 =7 ’
1)95 2)53

3)51 4) 57

fz f&E 991 7' *ORANGE' =
72+ @ -+ * 3% ‘EAT #1 *@$
forar siie @1 *ROTATE' &1 %9
foan s ww@ & 2

N<?2S@*$ )+?28@ - *
H+?28@$* 4)+28* @
A 3R BJ v 1 C st D wgd £
AFaRI DA METIBTICEH 9™
1 Hay g ?

1) foen 2) g

3) TRV 4) Fww

W& W wwg 9:15 ¥ | w2 % 5 ufvmm fawm
0 air ¥ fre % g e fom = o
gt 2

1) 3® PARC]

3) =fgoy 4) ufF=m
Frafafaa § - ad g @' 78 &2
1) 2000 2) 2600

3) 1600 4) 1996

Ifz yrl faam € @ wE i w5 a0
1) g8ar 2) dER

3) ¥EFER 4) wifEr



, -

I 61.

5 friends are sitting on a bench. A is to
the left of B but on the right of C. D is
to the right of B but on the left of E. Who
are at the extremes ?
1)A, B
3)B,D

2)A,D
4)C,E

Direction : Read the sentences carefully and
answer the following questions (62-65).

62.

63.

65.

67.

Six persons are sitting in a circle. A 1S
facing to B. B is to the right of E and left
of C. C is to the left of D, F is to the right
of A.

Who will be sitting to the left of D ?

1)B 2) F

3)C 4) A

Who will be sitting to the left of *C" ?
HE 2)C

3)A 4)B

Who will be sitting opposite of ‘E ?
DA 2)D

3)F 4B

Who will be sitting opposite to “C" ?
1)F 2)E

3)B 4 A

How many straight lines are there in the
given figure ?

1) 14 2)8

3)4 4)9

The position of which letter in the word
‘WONDERFUL' remains unchanged if
letters are arranged alphabetically ?

1) N *2) F

3)U 40

7

61.

Sﬁﬁqaﬁiﬂmiaitftrﬂ'A',B%:aﬁi
AR C ¥ AEFM D, BT
<Hif i weg E ¥ A8 AR #49 # 19
g W wE w2
1)A, B
3)B, D

2)A,D
4)C,E

ﬁtwﬁiw:ﬁqnqawﬁﬁwqﬁmnﬁsﬁt
TS T W (62-65) F I A1

62.

66.

2. ot T e S A MAE B
1 g 2B, B ¥ 94 @R # C
At ER O, D F A ARIF,
‘A BT SR R

‘O F @R @E e E@m o ?

1)B 2) F

3)C 4) A

@ % W @R WM g9 g 7

E 2)C

A 4B

‘B’ % WnF ®R da B ?

1A 2)D

3)F 4)B

‘¥ WA B s g ?

1) F 2)E

3)B 4)A

# T gy # fee w@h Tl & 7
1) 14 2) 8

3)4 4)9
. afz & ‘WONDERFUL & FUil &
sutEn ¥ forn s & fem 9 w1 W
= =z 7

)N 2)F

3)U 4)0



68.

In the following words which will come
first alphabetically :

1) Fame 2) Shame

3) Name 4) Came

Directions : (Q. No. 69-75), In the given series
of Alphabets : A, B, C, D, E,F, G H, I, J, K,
LM,N,OPQRSTUVWXY,Z
Answer the following questions :

69.

70.

71.

74.

75.

How many letters are there in between
the 7th letter from the left and 8th letter
from right ?

1)8 2)9

3)10 4) 11

Which is the 11th letter to the left of the
4th letter from the right when you write
the given alphabets in backward order ?
P 2)Q

3)0 4) N

Which letter is on the 25th position in the
series ?

Y 2)U

)T 4V

Which letter is to the left of 9th position
letter in the scries ?

1)C 2)H

3] 4) K

In the reverse order of given Alphabets, what
will be the position of ‘P’ from left side?
)11 2)8

3)9 4) 12

What will be the position of alphabets ‘D’ and
X’ in the given series from left to right ?
1)(3,5) 2) (5, 20)

3) (4, 24) 4) (6, 2)
On writing the given alphabets in reverse order,
name the alphabets to the left and right of *0.
)R, N ' 2)P L

3)N, P 4 PN
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68.

o e vl § St aviwen ¥ OaHER
FH-H TR TEA MM ?

1) Fame 2) Shame

3) Name 4) Came

faom Fdwr : (wva F@m 69-75), 9 dwen w
A,B,C,D,E,FGH,LJ,K L MN,O,P,
QRS TUVWXY,Z
Frefafea woal & 3av i -
69. @l AR F 79 A WA A D 8F mn

70.

72.

T

74.

75.

¥ e § 3o e i §2
1)8 2)9
3) 10 4) 11

3t ¢ sjmen 1 I %9 A fomd w, <
H ] I T 919 99 & & J FH
aren 11s 5ot F:= @ g ?

nHP 2)Q

3)0 4) N

. A dmen § 259 wH W EH-w gl
gm?

Hy U

)T HVv

q R Haen # oF avl F & A F=-
| SR Fm 2

Hce 2)H

3)J 4K

2 7€ quinren &1 SEen F1 I w9 | ferad
W, W @R ¥ P FH-2 E W R ?
1l 2)8

3)9 412

4 é avieren 9 sjwen ¥ w4 i A 9 sin
IH W D’ #R X BN W WA ?
1)(3,5) 2) (5, 20)
3)(4,24) 4) (6, 2)

% 7 e # GEe S 3w | faad
W, O & A e S # a9 @2
)R, N 2)P L

N, P 4 PN




e —

1)(2,3,541)
3)(2,31,4,5)

2)(3,2,5,4,1)
4)(2,3,1,5,4)

1)(2,3,54,1)
3)(2,3,1,4,5)

e ———
9
76. Write the number 65 in the Roman Numerals,  76. H@&1 65 F 74 3isi & ¥ # fera
1) LXX 2) LXV 1) LXX 2) LXV
3)L 4) XC 3)L 4) XC
Direction : In Question No. 77-80, arrange the To0W FIR¥T : w1 wex 77-80 #, ¥=if 1 3few
given words in meaningful order. LR ol -
77. 1) Death 2) Marriage 77. 1) Tt 2) W
3) Education 4) Birth 3) foen 4) 57
5) Funeral 5) sifom H@RR
1)(5, 1,2, 3,4) 2)(4,2,3,1,5) D@, 1,23,49  2)4.2,3,15)
3)(4,3,2,5,1) 4)(4,3,2,1,5) 3)(4.3,2,5,1) 4)(4,3,2,1,5)
78. 1) Butterfly 2) Cocoon 78. 1) feett 2) =9 (FF)
3) Egg 4) Worm 3) si= 4) #ie
1)(1,3,4,2) 2)(1,4,3,2) 1)(1,3,4,2) 2)(1,4,3,2)
3) 3,4,2, 1) 4)(2,4,1,3) 3) 342D 4) (2,4, 1,3)
79. 1) Ceiling 2) Room 79. 1) Tt 2) F94
3) Floor 4) Walls 3) w¥ 4) =ran
5) Foundation 5)
1)(5,4.1,3,2) 2)(5,4,3,1,2) 1)(54,1,3,2) 2)(5,4,3,1,2)
3)(4,5,3,1,2) 4)(4,5,1,2,3) 3)4,5,3,1,2) 4)(4,5.1,2,3)
80. 1) Study 2) Job 80. 1) e 2) At
3) Examination 4) Eam 3) wdan 4) FHF
5) Apply 5) AT HE
1)(1,3,2,5,4) 2)(1,2,3,4,5 1)(1, 3,2, 35, 4) 2)(1,2,3,4,5)
3)(1,3,5,2,9) 4)(1,3,5,4,2) 3)(1,3,5,2,4) 4)(1,3,5,4,2)
81. 1) Fruit 2) Seed 81. 1) ¥ 2) =i
3) Sapling 4) Flower 3) e en 4) F
5) Plant 5) e

2)(3,2,5,4,1)
4)(2,3,1,5,4)

Direction : In Question (82-87), choose the Frder : wew wem (82-87) H, o wwEn o fi
figure which will replace the question mark (?), % ¥ 1 3W foll # & 7% fax g7 < f e
82. Question Figures fa § &t ® Jaew #1 9@ @@ g

W"w“&zq (WWV:.:Q:&:?
Answer Figures o
7114 N 4] 7|[4] Y] [4

(1) (2) 3) (4) (n (2 3 (4)
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83. Question Figures 83. (ww faa)
Answer Figures (I o)
I TR | e Tl | | b6
(1) (2) (3) (C)) (1) (2) 3) @)
84. Question Figures 84, (w1 fo39)
O : = O ? O - | O ?
Answer Figures _ (FT T94)
@||O||Oo||Aa @||@||0||A
(1 ) (3) 4 (1 (2 (3) )
85. Question Figures 85. (ww )
ol[&l|:|w|| | @||=||¥]|:
Answer Fig__g}rcs (IW o)
VII|V| |V |V VIV V||V
(1 (2) (3) 4 () 2 (3 4)
86. Question Figures 86. (wm fa7) -
AR A ARl A
Answer Figures (3w o)
vile]|=l=] [L]]=]]=]]|=
(1 (2) (3) 4) (1) (2) (3) 4
' Question Figures h (wveq f53)
: & ? : E g ?
= : z |:|[B 1) @
Answer Figures (3w o)
el B (qm g || B 1 L]
(1 (2) (3) (C)) (1 (2) 3) 4




1
Direction : In Question 88-90, there are four fider ; Wy T 88-90 #, IR g9 fam fzu
problem figures. In the given figures, there is M ¥ 37 fRw u faAi v wwen ) 3w
one problem figure. Choose that problem figure. i &7 w7 31

88. 88.

X X2 [+ XX/
(1) @ @) @) n @ 3) )
89. 89

81 1| & 8] |m= (%[
(1) @ 3 @) (1) ) 3) )
90 90.

-.-——-—_.——-q...__—_——.——_——_—_—_———_—————_—.-———




